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B w= 0.80 i3
No scale
EE L= 1.50
2 H= 1.50 1,500
5 1R WrE {EHIBRmE
QBEZHEAS(13)
0 MEREET 30
Ashft
400 REL
HBRET
0 RC—40
1,470
HRET
1100 A -7
(1o0@mr&fzY)
WY T L= ( 08 X + 15 X 2 ) X 10.0 46.0 m
SHEERWRT A= 0.8 x 15 10.0 12.0 m
ASTHIEM - L5 V= 0.8 X 15 0.03 X 10.0 0.4 m
A SEH - FEA V= 0.8 X 15 147 X 10.0 17.6 m
7% 1 5E - s V= 17.6 - 48 12.8 m
BRI (BRER) V= 0.8 X 1.5 1.10 X 10.0 13.2 m
BRI (F4£1) V= 0.8 X 1.5 0.40 x 10.0 48 m
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B w= 0.80 i3
No scale
EE L= 1.50
2 H= 1.50 1,500
5 1R WrE {EHIBRmE
QBEZHEAS(13)
30 BEREIAL -
Ashft
HBRET
230 c_20
HBRET
500 RC—40
1,350
HRET
740 A -7
(1o0@mr&fzY)
WY T L= ( 08 X + 15 X 2 ) X 10.0 46.0 m
SHEERWRT A= 0.8 x 15 10.0 12.0 m
ASTHIEM - L5 V= 0.8 X 15 0.15 X 10.0 1.8 m
A SEH - FEA V= 0.8 X 15 1.35 X 10.0 16.2 m
7% 1 5E - s V= 16.2 16.2 m
BRI (BRER) V= 0.8 X 1.5 0.74 X 10.0 8.9 m
T B #E T(RC-40) A= 0.8 X 15 10.0 12.0 m
BT (C-20) A= 0.8 x 15 10.0 12.0 m
SHEREIR A= SEBERTICZRC 12.0 m
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EXRREMNESEFR

BhEHE BhEHSE BEHE b5
T & AsEx(m) AstIEI#F(m) Cok(m)
2.35t/m 2.35t/m 2.35t/m
mrsr | | | 1 1 ]
467 10.97
werser | | | 1 ]
3.47 8.15
ewasr | 1 1 1 ]
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REREIBEE (m)

T i TREBKET RC-40 BT c-20 REIET | FEZET
t=50cm t=45cm t=30cm t=27cm t=23cm t=19cm t=10cm @B &%As t=3cm| HIEMEL

erss | | | T 1 1 1 1 |
11.44 23.46 23.46 22.58

weeses | | | | 1 1 1 1 1
12.14 24.82 24.82 18.16

wass | | 1 1 1 1 1 1
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0.94

A

24.52
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I g BEEBXRAE —feThiE G E-3E HE BHE B8 B =
E=E t=5cm REI t=4cm | REBT t=3cm | RET t=4cm | XE I t=3cm R t=5cm C-20 t=10cm R t=5cm =& t=3cm
erss | | | T 1 1 1 1 |
22.58 22.58
weeses | | | | 1 1 1 1 1
18.16 18.16
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